AP Calculus AB



      Chapter 5 & Applications of Integration Review
1. Evaluate 
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e)  None of These

2. Evaluate 
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e)  None of These
3. Evaluate 
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e)  None of These
4. Evaluate 
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e)  None of These
5. Evaluate 
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e)  None of These
6. Evaluate 
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(HINT: 
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e)  None of These
7. Evaluate 
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e)  None of These
8. Evaluate 
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e)  None of These
9. Evaluate 
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e)  None of These
10. The function f is defined by 
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.  What is the value of 
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e)  None of These
11. Which of the following are equivalent to,, 
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a)  I only



b)  II only



c)  III only


d)  II and III only


e)  All of the above

12. GC Calculator Active:  A particle moves along a line so that its acceleration for t ≥ 0 is given by 
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.  If the particle’s velocity at t = 0 is 5, what is the velocity of the particle at t = 3?

a)  0.713



b)  1.134



c)  6.134


d)  6.710



e)  11.710
13. GC Calculator Active:  The rate of change of the altitude of a hot-air balloon is given by 
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.  Which of the following expressions gives the change in altitude of the balloon during the time the altitude is decreasing?

a)  
[image: image60.wmf](

)

ò

514

.

3

572

.

1

dt

t

r





b)  
[image: image61.wmf](

)

ò

8

0

dt

t

r





c)  
[image: image62.wmf](

)

ò

667

.

2

0

dt

t

r



d)  
[image: image63.wmf](

)

ò

¢

514

.

3

572

.

1

dt

t

r





e)  
[image: image64.wmf](

)

ò

¢

667

.

2

0

dt

t

r


14. Using the substitution 
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15. If G(x) is the antiderivative for f (x) and 
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16. Explain how 
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17. The tide removes sand from Sandy Point Beach at a rate modeled by the function R, given by
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A pumping station adds sand to the beach at a rate modeled by function S, given by
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a)  How much sand will the tide remove from the beach during the 6-hour period?  Indicate 

     units of measure.


b)  Write an expression for 
[image: image89.wmf](

)

Yt

, the total number of cubic yards of sand on the beach at 


     time 
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c)  Find the rate at which the total amount of sand on the beach is changing at time 
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d)  For 
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 is the amount of sand on the beach a minimum?  What is 

     the minimum value?  Justify your answers.
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The rate of fuel consumption, in gallons per minute, recorded during an airplane flight is given by a twice-differentiable and strictly increasing function R of time t.  The graph of R and a table of selected values for
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a. Use data from the table to find an approximation for
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b. The rate of fuel consumption is increasing fastest at time t = 45 minutes.  What is the value of
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c. Approximate the value of 
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 using a left Riemann sum with the five subintervals indicated by the data in the table.  Is this numerical approximation less than the value of 
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d. For 
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 in terms of fuel consumption for the plane.  Indicate units of measure in both answers.
18. Complete the following questions from Sample Exam II in your AP Prep Book:                 (NOTE: Be sure to follow directions in each section for GC.) 
a. OE - #1, 3



b. MC - #4, 10, 15, 16, 33, 40
_1390935851.unknown

_1516878424.unknown

_1516880606.unknown

_1516886234.unknown

_1549615981.unknown

_1549615985.unknown

_1549615987.unknown

_1549615989.unknown

_1549615990.unknown

_1549615988.unknown

_1549615986.unknown

_1549615983.unknown

_1549615984.unknown

_1549615982.unknown

_1549615979.unknown

_1549615980.unknown

_1516886243.unknown

_1549604736.unknown

_1516880733.unknown

_1516881327.unknown

_1516883124.unknown

_1516883276.unknown

_1516883326.unknown

_1516883404.unknown

_1516883159.unknown

_1516882962.unknown

_1516883017.unknown

_1516881384.unknown

_1516880808.unknown

_1516881246.unknown

_1516880780.unknown

_1516880690.unknown

_1516880716.unknown

_1516880635.unknown

_1516879959.unknown

_1516880249.unknown

_1516880306.unknown

_1516880325.unknown

_1516880290.unknown

_1516880074.unknown

_1516880155.unknown

_1516880054.unknown

_1516879833.unknown

_1516879889.unknown

_1516879934.unknown

_1516879868.unknown

_1516879724.unknown

_1516879762.unknown

_1516879302.unknown

_1485520556.unknown

_1516878123.unknown

_1516878348.unknown

_1516878402.unknown

_1516878284.unknown

_1516878089.unknown

_1516878111.unknown

_1516878031.unknown

_1390987779.unknown

_1390987907.unknown

_1485520404.unknown

_1390987878.unknown

_1390987906.unknown

_1390987588.unknown

_1390987711.unknown

_1390973772.unknown

_1390973773.unknown

_1390973561.unknown

_1390973771.unknown

_1390935852.unknown

_1390934702.unknown

_1390935472.unknown

_1390935672.unknown

_1390935725.unknown

_1390935766.unknown

_1390935850.unknown

_1390935673.unknown

_1390935571.unknown

_1390935671.unknown

_1390935519.unknown

_1390935292.unknown

_1390935376.unknown

_1390935471.unknown

_1390935350.unknown

_1390934771.unknown

_1390934968.unknown

_1390934757.unknown

_1390925792.unknown

_1390925877.unknown

_1390926434.unknown

_1390934636.unknown

_1390926433.unknown

_1390925826.unknown

_1390925848.unknown

_1390925793.unknown

_1390925561.unknown

_1390925618.unknown

_1390925705.unknown

_1390925584.unknown

_1390925529.unknown

_1390925552.unknown

_1390925451.unknown

